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	8.  What is the equation of a circle with a center of 
     (4, -1) and a radius of 5?
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	[image: ]10.  What type of construction is represented below?













F.  The perpendicular bisector of a segment.
G.  A segment congruent to another segment.
H.  A line perpendicular to a line through a point on the line.
J.  A line perpendicular to a line through a point not on the 
      line.
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	21.  What type of construction is represented below?
[image: ]














A.  The perpendicular bisector of a segment.
B.  A sement congruent to another segment.
C.  An angle congruent to a given angle.
D.  The bisector of an angle.
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	28.  What type of construction is represented below?
[image: ]











F.  The perpendicular bisector of a segment.
G.  A segment congruent to another segment.
H.  A line perpendicular to a line through a point on the line.
J.  A line perpendicular to a line through a point not on the 
      line
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	31.  What type of construction is represented below?
[image: ]









A.  The perpendicular bisector of a segment.
B.  A segment congruent to another segment.
C.  A line perpendicular to a line through a point on the line.
D.  A line perpendicular to a line through a point not on the 
      line.
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	35.  [image: ] 
	36.  What type of construction is represented below?
[image: ]











F.  The perpendicular bisector of a segment.
G.  A segment congruent to another segment.
H.  A line perpendicular to a line through a point on the line.
J.  A line perpendicular to a line through a point not on the 
      line.
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	48.  What type of construction is represented below?
[image: ]











F.  The perpendicular bisector of a segment.
G.  A sement congruent to another segment.
H.  An angle congruent to a given angle.
J.  The bisector of an angle
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image7.png
‘There are two concentric circles at
the center of a basketball court. The
radiius of the inner cirdle is 2 feet
and the radius of the outer dircle is
6 feet. What is the ratio of the
circumference of the inner dircle to
the circumference of the outer
cirde?

A

oo b

B
c
o
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F (= 4P +(y+ 17 =100
G (x—4F+(y+1P=5
H (= 4F+(y+1P=25
3 AP+ - 1P





image9.png
The locations of three shopping malls
form a triangle on a map. Which best
describes the possible distances.
between Mall 2 and Mall 3?2

a1y

a5,
asm

a2

A greater than 1 mile and less than
8 miles

B greater than 8 miles

greater than 1 mile

D greater than 1575 miles

a
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>

sep
Using P th conter,
draw two acs with qul
vadi that nforsect na at
ponts Rand .

sep2
Using Arand § as cortors
draw two arcs ith equal
adiithat interseot at
point X.Draw PX.




image11.png
In addition to the information in the
drawing, statement can be
used to prove that ARST ~ AEFG?

ZR=cE
ZT=2G
EG=4

EG

“zam
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1

A student draws the triangle below
a geometry software program.
Which lists the side lengths of the
gle in order from least to
greatest?

Trangle GRA

]

RA, AG, GR

RA, GR, AG

A
B GR RA AG
c

D AG,GR, RA
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13

Apilot flew from Pittsburgh,
Pennsylvania to Charleston, West
Virginia, then to Roanoke, and back
to Pittsburgh. Which lists the angle
measures in the triangle formed in
order from least to greatest?

€. Cuieston”_R, Roanake

2P, £R, 2C
LR, 2P, 2C
£C, 2R, 2P
2P, £C, LR

onw>
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14 Two cylindrical kitchen canisters are
similar. How many times more
volume will the larger canister hold?

T o™

4
4times more
8

& times more
16

1 times more

s
& times more
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Transversal t intersects AB and XV
as sh Value of m would
make Al \%
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16

Whatis the converse of the
following statement?

If you go to the movies, then you
eat popcorn.

FIf you do not go to the movies,
then you eat popcorn.

G If you do not go to the movies,
then you do not eat popcon.

H I you eat popcom, then you go to
the movies.

3 Ifyou o not eat popcom, then you
do not o to the movies.




image17.png
Main Street intersects Oak Street

following relationships would not
sufficient to prove that Oak Street is
parallel to Elm Street?
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18 Triangle CDE is drawn
Which of the
symmetry?

the plane.
s is a line of

“zam
w-av
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What is m£ X in circle O?

126° X

I

123°
14
46°
23

0N >
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20 Whatis the contrapositive of the
following statement?

If you study mathematics, then you
9o to the College of William and
Mary.

FIf you do not go to the College of
William and Mary, then you study
mathernatics.

G If you do not study mathematics,
then you do not go to the college
of William and Mary.

HIf you do not go to the College of
William and Mary, then you do not
study mathematics.

3 Ifyou go to the College of William
and Mary, then you study
mathernatics.
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Step 1

Draw any angle with vertex A.
Placing the compass at A, draw an
aro that intersects both sides of ZA.
Label points B and C and mark
congruent segments.

Step 2

Draw an arc in the interior of

ZA vith compass point at B.
Using the same radius, draw

an arc from C that intersects

the first arc at D. Draw B and
GD and mark congruent segments.

Step3_
Draw AD.
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22

What s the inverse of the following

statement?

If you live in Blacksburg, then you

live in Virginia.

FIf you do not Ive In Virginia, then
you do notIive In Blacksburg.

G Ifyou o not live in Blacksburg,
then you do not I In Virginia.

H If you do not Iie in Blacksburg,
then you live In Virginia.

3 IfyouIive in Blacksburg, then you
do not Iive In Virginia.
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2

An aquarium curator wants to
expand his facility by constructing a
new aquarium. The old aquarium is a
cylinder that is 20 feet tall with a
diameter of 50 feet. The new
aquarium will be a similar cylinder
with a diameter of 100 feet. How
much more water, in cubic feet, will
the new aquarium hold?

A 78540
B 117810
< 274890
D 314,160
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24 Line tis a transversal. Which of lines
P. g, rand sis not parallel to the
other three?

“zam
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25

A dircle with center (5, -3) has a
radius of 4 units. Which point is on
the dircle?

(13,-3)

@1

a.-n

6.1

>

onwm
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A park has a walking path in the
shape of a right triangle. Which of
the following side lengths could not
be lengths of the path, in kilometers?

F 15225
G 3,45
H 4,555
1 256,65
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Let p represent “The town is
Arlington.”

Let q represent "The towr
suburb of Washington, D. C."
Which is a representation of the
statement below?

If the town is a suburb of
Washington, D. C., then the town
is not Arlington.

[y —
B q—-p
c ~q=-p
D p—-q
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Line £ and point P are given. Arcs
are drawn at points X, Y, and Z,
then PZis drawn. Which constru
is illustrated?

swpt

Yok
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29

Point T is the image of point R
under a rotation about point S.
Which of the following statements
verifies that £ 1 m?

i

Cwam

A Slope of £ not equal to slope
ofm.

B slope of £ - slope of m

RS=TS=37

D Lines £and mntersect In the
plane.

a
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30

The surface area of a right cylinder
is three times the surface area of a
smaller similar cylinder. What is the
ratio of the radius of the larger

cylinder to the radius of the smaller





image31.png
—

Given 37,

Use astraghtadge to draw e . Pot
point A on . Set the compass vith
vadius XY. Place compass paint on A
and draw anar ntrsecting £t B
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A golf ball has a diameter of 1.68
inches. Which is closest to the
volume of the ball, in cubic inches?
F o084

G 25

H 30

189
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In addition to the information in the
drawing, which statement would be
needed to prove that

AFGH ~ AMNP?

@ =
FG _ P

A wR =P

5 FH_GH
i

C ZF=M

) N
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34 Which value is closest to the length

of AB

“zam

, in centimeters?

A

@

o,

10
122
192
205
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Two storage boxes are si
how many times more volume will
the larger box hold?

i

250

o T

A The larger box will hold 1.25 times
as much.

B The larger box will hold 1.56 times
as much.

€ The larger box will hold 1.95 times
as much.

D The larger box will hold 2.44 times
as much.
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1 The map shows some street:
North Virginia Beach. Which labeled
street is not parallel to the other
labeled streets?
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Which value is closest to the area of
the shaded sector of circle O, in
square meters?

2 mABC=2e
A'
[
A 785 c 257

B 528 D 103
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38

A child's ball has a diameter of
12 inches. Which is closest to the
surface area in square inches?
[RIES]

G 1508

H 4524

IRt
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40 ABis rotated 90° clockwise about
the origin. What s the length of its
image?

“zam
g
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39

Triangle ABC and its image, triangle
DEF, are shown. Which statement
describes the type of transformation
that occurred?

ENERGE
N
EEERG
A Slope of AC = slope of DF; since

the slopes are the same, the
transformation Is a fotation.

B Each of the points A, B,and Cls
reflected in the x-axis.

€ For points A, B,and C, each
x-coordinate Increases by 4 units,
and each y-coordinate Increases by
3units. So, the transformation Is a
translation.

D Since BC # DF, the transformation
s a dilation with a scale factor of 1.
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a

the pair of statements?

If1 pass my driving test, then | will
get my driver’s license.

If1 get my driver’s license, then I will
drive my parent’s car.

A IfI do not pass my driving test,
then | will not drive my parent’s car.

B Ifl pass my driving test, then | wil
drive my parent’s car.

€ If1 dive my parents car, then | got
my driver’s license.

D If1 get my driver’s license, then |
did not pass my driving test.
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42 LeeAnn cut a piece of stained glass
that s shaped like the hexagon
below. What is the value of x?

P
G 1w
H 3
3 A
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Schools often have the traffic si
below near their buildings. What is
the closest estimate of mZA?

A

90

135°
160°
180°

onw>
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44 The opposite sides of a picture
frame are congruent. The frame is a
parallelogram. What additional
information would not verify that
the frame is a rectangle?

[ ]





image45.png
The angle of elevation to the top of
Whitetop Mountain is 55° from a
horizontal distance of 3865 feet.
Which is closest to the value of x,
the height of the mountain?

0

3865 1t

sin 55° =~ 0.819
cos 55° = 0.574
tan 55° ~ 1.428

5519 ft
3165 ft
2219 ft
687 ft

0N >
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46 Which i
the p:

then statement follows from
of statements?

If the sun is shining, then we will
have a picnic at the Mount Rogers
National Recreation Area.

If we have a picnic at the Mount
Rogers National Recreation Area,
then it is not raining.

FIfwe do ot have a picnic at the
Mount Rogers National Recreation
Avea, then the sun s shining.

G Ifthe sun s shining, then It is not
raining.

HIfitis not raining, then the sun s
shining.

3 Ifwe have a picnic at the Mount
Rogers National Recreation Area,
then the sun Is shining.
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A gift box in the shape of a
rectangular prism has a base area
of 56 square inches and a height of
4inches. What is the volume of the
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47 Which set of true statements can be
used to verify that AKLM = ARST?

PuRE

cnm>
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R

swpt
Using A asthe cener,draw
an ar tht nterseots
ZBACt Eand D.

swpz_

Draw PR Draw an ac vith
center P vith the same radius
s DE. Draw an arc with center
S with radius DE that intrsects
the otherarc. Then draw PT.
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49 Karen designed a logo that is a kite

inscribed in a circle. One diagonal of
ameter of the
circle. Which statement is true about
angles ZKIT and ZKET?

]

E

A ZKiTand ZKETare both right
angles.

B ZKITand ZKETare congruent.
ZKITand £KET are supplementary.
D KITand ZKETare not related.

a
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50  Which of the four triangles are

similar?
.
h )
A
F landlll only
G |, 1I, and Il only
H land IV only
J llland IV only

£
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51

The circumference of a great cirde
of a women's league basketball is
28.5 inches, and the circumference
of a great dircle of a men's league
basketball is 29.5 inches. Which is
closest to the ratio of the surface
area of the women’s basketball to
the surface area of the men's
basketball?

05902
0933
0966
1035

onw>
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52 The streets near Fiona's house form
the right triangle shown. Fiona rides
icycle down each street once.
Which number is closest to the

5w

130mi
14mi
105 mi
85mi

F
s
H
3
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53

George designed a circular patio
ith a radius of 8 feet. He added

s that make an inscribed square.

What s the area of the tiles he

added, in square feet?

2

7
128

onw>
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The front of a tent appears to
be an isosceles trapezoid. What
information is needed to verify that
this quadilateral is an isosceles
trapezoid?

P s

mZP+mzQ=180°
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A sugar cone for ice cream is shaped
like a right cone as shown. Which is
closest to the volume, in cubic
inches, of ice cream that will ill the
cone?

cnm>
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4 According to the diagram, which is
true?

Paralllograns

“zam

No squares are parallelograms.
No thombuses are rectangles.
Some rectangles are not squares.
Some rectangles are not
parallelograms.
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A stained glass design uses a shape
formed by connecting the vertices
of a regular octagon. What is the
value of x?

135°
90°
45°
30°

oNnw>»
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Two cylindrical storage containers
are similar. About how many times
larger is the volume of the larger

241t

container?
121t -
= &//
==
¢ @

F The volume is 3 times larger.

G The volume is 6 times larger.

H The volume is 9 times larger.

3 The volume is 27 times larger.
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What is the total volume, in cubic
inches, of an acrylic bookend in the
shape of a square pyramid?

Mo

i

24
32
48
144

oNnw»
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Whitetop Mountain is 5520 feet
high. The angle of elevation to the
top of the mountain from a point
x feet away is 56°. Which is closest
to the value of x?

.

S

sin 56°~ 0.629
cos 567 ~ 0.559
tan 56°~ 1.483

98711t
81841t
8658 1t
EELY

cnm>




image5.png
A child built a paper airplane. Which
lengths, in inches, could not be used
for AABC, a wing of the airplan

567
4,8,12
9,10,12
89,11

onm>
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6 Transversal n intersects lines £
and m. Which statement would
prove that £ || m?

mal=ms3
mz3=msb
mz6+ms7
mz4 +mss

“zam





